8624 — 3532 =
0.04x10 =

What is the value of the
underlined digit? 6356

1275 x 84 =
37.35+16.302 =
1274 =161+
2862 + 27 =

Write 67 in Roman Numerals

=8x4

Round 7385 to the nearest 10

15232 - 7635 =
0.04 x 100 =

What is the value of the
underlined digit? 38535

2535 x 84 =
175.36 +125.7 =
2435=1624+
3483 + 27 =

Write 101 in Roman Numerals

=9x7/

Round 19863 to the nearest
10 =

24351 — 19264 =
0.004 x 100 =

What is the value of the
underlined digit? 1742442

6542 x 84 =

83.8 +125.303 =
7652 =3641+__
5103 + 27 =

Write 222 in Roman Numerals

= 4x12

Round 873746 to the nearest
10 =



8624 — 3532 = 5092
0.04 x 10 = 0.4

6356 = 300

1275 x 84 = 107100
37.35 + 16.302 = 53.652
1274 = 161 + 1113

2862 = 27 = 106

Write 67 in Roman Numerals
= LXVII

32=8x4

Round 7385 to the nearest 10
= 7390

15232 - 7635 = 7597
0.04x100=4

38535 = 8000

2535 x84 = 212940
175.36 + 125.7 = 301.06
2435 =1624 + 811

3483 +27 =129

Write 101 in Roman Numerals
= ClI

63=9x7/

Round 19863 to the nearest
10 = 19860

24351 — 19264 = 5087
0.004 x 100 = 0.4
1742442 = 40000

6542 x 84 = 549528

83.8 + 125.303 = 209.103
7652 = 3641 + 4011

5103 + 27 = 189

Write 222 in Roman Numerals
= CCXXII

48 = 4 x 12

Round 873746 to the nearest
10 =873750



